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DJO0O00O0Omyqld DO.00:000000,0000000
OO00O,0000000repl, 000 1234567890° , 0000
[ Oselect_priv,
reload_priv,process_priv,grant_priv,super_priv,repl_slave priv,repl
clent privO 00000000 0O0OO0OOOO00O0000O0O
% O O0O0O00O0Omycenf0O0O0,000mysqldO0OO
Obin-log0 D0 000000000000 Omy.cnfd OO
O0,00000000mysgl 000 0. #[client] #password =
your_password #port = 3306 #socket = /tmp/mysql.sock
[mysqld_multi] mysgld = /usr/local/mysql/bin/mysqld_safe
mysqladmin = /usr/local/mysql/bin/mysgladmin user = mysql
password = mypasswd [mysqgld1] port = 3306 socket =
/tmp/mysql.sockl skip-locking
pid-file=/usr/local/mysql/data/net-appla.pid datadir =
/usr/local/mysgl/data log=/usr/local/mysqgl/data/net-appl.log user =
mysql log-slow-queries=/usr/local/mysql/data/slowquery.log
long_query_time =2 key buffer = 256m max_allowed_packet = 1m
table_cache =512 sort_buffer_size =2m read_buffer _size =2m
myisam_sort_buffer size = 64m thread cache = 32
query_cache_size = 32m thread_concurrency = 2
max_connections=500 log-bin
log-bin=/usr/local/mysql/data/app-netl_1-bin server-id =1



[mysqld2] port = 3307 socket = /tmp/mysqgl.sock2 pid-file =
/usr/local/mysgl/data2/net-applb.pid datadir =
/usr/local/mysgl/data2 log=/usr/local/mysql/data2/net-appl.log user
= mysql log-slow-queries=/usr/local/mysql/data2/slowquery.log
long_query_time =10 key_buffer = 128m max_allowed_packet =
1m table_cache =512 sort_buffer_size = 1m read_buffer_size = 1m
myisam_sort_buffer size = 32m thread _cache = 32
query_cache_size = 16m thread_concurrency =2
max_connections=300 log-bin 100Test U O OO0 OO OO0 O OO
ODo00ddoooobtodd www.100test.com



